EARAROBEEIERT — 2 N— IBISH —F

20178118158 (k) 17EIEM4AH

m C3Z #¥7%3m®EL ‘ (%E] W ‘ (Ewm  — | 4 (E) 14000 ©
[AE4£] 1 7% :250,000 ™ ~ 23#%&:60,000”  33&:30,000”  437&:20,000MH .~ 57&:15,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
© L5 | BEHS 32, -2-1- 9| - W= (FEl)
ilsl5|v—FnT—hH— > 5 AEwf 1(3_2)3 2-2-1-1 | 40.9 1 (115133) S
LEILTINENX B:La4k—0)T7 2R Hep HFx
EREE :32. —4—4— . — BEERSE (F)
2 3 Ky 77— % 3 g4 1(13/22)4 5-4-4-3 | 40.7 2 (4_232) xﬁég
L:xF1=Jy— B:vA4 %/ I B Bz
. — HEFE= . —5-3— — EWEE (EMA
3 o | FUTTTIY o7 o= (11312/463 3-5-3-2 | 40.9 3 3327) oy
LEARYIFRYT—/ BHT RHRDA TEHS
-3 =% f 7 | ElEE— 1:33.0 1-1-2-4 | 41.6| — 5 478 | RIFIER (FEl)
AR 4| —77— 0 2172 (3) | RBEXF
R:X8F2—FTUNTe B:Z/TLAT AR
R _» 47 | KFFHA 1:33.1 6-6-5-5 |40.9| — 8 400 | BMEUA (FEHD)
5|7|8 Ly Ka147—-> 56.0 (3/4) +2) kﬁi‘ﬁ%
LA TAT v — BXRY—kIXL—F =¥ Tr— L
g 4 5 | Bl 1:33.4 7-7-6-6 | 41.2| — 4 419 | #E)IES (EB)
6111 Ly 54.0 (1 1/2) (+2) (E)EE Kv74 5> K
LY LTI N—h B:Y—ILIXE— KA ER
— 4t 8 | DOERER— 1:33.4 7-7-8-7 |41 | — 6 462 | /VIIEH (EIR)
702|7 | PIRET Y 56.0 (7€) © | @ Tr-xtrEvar
R:w¥/ by THY B:TFoHLE-FX BRI
. # 8 | ETE— 1:33.5 9-9-9-9 |41.0| — | 7 | 502 |WiBE (k)
8|8 10| T A FRN=TN 460 (172) Cpy | B Fr-xrEvar
RiZNAF¥2—)b B:F1XTIRLZX L—ZKk—2Z
‘O E jt 8 | MAAESL 1:33.7 4-3-7-8 |#.7| — 10 | 431 | LEZER (EH)
9189 X—=/)N—EOR-—-Ib 54.0 (3/4) o) RIl=EF
LiBALINT Ry IZ Biyv A2 TLAN— =55
j 4 6 | BRED 1:34.4 10-9-9-10 | 41.9 | — 9 506 | REES (EH)
EE 6| A7 —T I #55.0 @ wn | ) Tr-xbEvas
R:TLLFFE2T1 B:ULaTAT J—HrTr—L
® 1—F—@EBIERL
1T=7r= 4,5,2,9,3,8,(1,7),10,6
2a=5F= 4,5,9,3,2,8,(1,7),(6,10)
Ja=5= 5,4,2,3,8,1,9,7,(6,10)
43—+ — 5,2,3,4,8,1,7,9,10,6
[ /N
B 5 130M 714K 3-5 120H B 3-5 290 JEE 2-3-5 260M
B B 5 1004 2= 150H B = 850 190H JEE B2 820M
3 110 2-3 230M B H 5-3 260M
2 1309

ABICOVWTRDTEEERROODE. TR LIV,




